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CHERAZE)
IR A DER (Bfz - +H)
6 EEFHEE 5%%F %8 18R E
2 g " 5 % FEFHE FEFHEE A s =
(a) (b) (a—b)
1. EZEILA 210, 818 223, 474 A 12,656
J\EHhig & T AR
#HENKDTSHERIAINHNFEEE 600 600 0
ARAENS LED LS EIEK
INEROHDHRRIEREEXTE 204,478 217,134 A 12,656
INBY—ERXRARUEEER 5, 740 5,740 0
2. BEMNRA 608 3,072 A 2, 464
J\ERhig & m AR
#HENKDTSHERINHNFEE 245 245 0
ARABN S LED LS EIEE
INERODHERREREBER 363 627 A 264
INBY—ERARUHEEER 0 2,200 A 2,200
3. #WEEIA 47,937 47, 757 180
J\E i & AR
#HBENKD TS HEARSM BN FEEEE 36, 584 34,085 2,499
AWwBINS LREBILS EIEETE
INBY 2 /N—4H
INBIS iS— b ST 879 879 0
INBY—ERXRARUERER 10, 474 9,469 1, 005
EXERFZNRE 0 3,324 A 3,324
4. ZHELSWA 65, 783 49,579 16, 204
J\E i & AR
#MENKDTSHERIINHNFEE 19, 501 18,576 925
AWwBIN S LEBILS B
INBY 2 IN—5
NRRY vy EEEH 6,652 6. 652 0
INEROHDHRRIEREEXTS 39, 630 24, 351 15,279
5 325, 146 323, 882 1,264
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(a) (b) (a—b)
J\Ehig# A E
1. BEEAR |[HEINKITSHERIAMNMHDNEEE 56, 930 53, 506 3,424
AWFZBNNF LEDILRS EIEETE
INBY 2 iN—5
INEB/IN IN—) EERETE 1,931 1,931 0
INERPHDHERREHREIBETS 244 471 242,112 2,359
INBY—E AR EBE 16, 214 20, 733 A 4,519
B 325, 146 323, 882 1,264




